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A. In fact according to main stream Economists it is inevitable and a

necessary evil in any economy

B. It is thus important for every nation to maintain this reserve of

labour force to maintain an optimal level of unemployment.

C. Unemployment is popularly believed to be and index which

measures the economic condition of a nation.

D. This is because it helps avert inflation by providing a reserve

army of labour which keeps wages in check.

E. The problem however, however, only emerges when governments

indirectly facilitate unemployment in order to curb inflation

through various policies and frame works depriving a large

population of its fundamental rights.

F. But contrary to popular belief unemployment is not always

disadvantages to the economy of a state CFADBE



7. Which of the following should be the FIFTH

sentence after rearrangement ?

(1) A

(2) B

(3) C

(4) D

(5) E
CFADBE



8. Which of the following should be the FOURTH

sentence after rearrangement ?

(1) E

(2) D

(3) C

(4) B

(5) A

CFADBE



9. Which of the following should be the SECOND

sentence after rearrangement ?

(1) F

(2) D

(3) C

(4) B

(5) A
CFADBE



9.Which of the following should be the FIRST 

sentence after rearrangement ?

(1) A

(2) B

(3) C

(4) D

(5) E CFADBE



10.Which of the following should be the THIRD 

sentence after rearrangement ?

(1) A

(2) B

(3) C

(4) D

(5) E

CFADBE






































